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SentenceS (rearrange the SentenceS)

Answer: ______________________________.

Answer: __________________________________.

Answer: ______________________________________.

Answer: _____________________. [Complete the sentence]

5)  Louis was ill, so he was absent to school. [Rewrite the sentence using ‘because’]

Answer: Louis was absent ________________________.[Complete the answer]

1)  Ella is a good friend of Sally

Sally is a good friend of Ella [Join them with ‘both’ and complete the answer]

2)  Jim can solve the problem

3)  Jane loves horse ride

4)  Lucy is weak

Key likes camel ride [Connect the sentences using ‘but’]

She cannot walk [Combine the two sentences using too…. to]

Kim can solve the problem [Rearrange the sentence using ‘Either…. or’]

Rearrange the following sentences and write your answers in the space provided. 

Follow the directions or hints given for rearranging sentences.


